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RO HTER % T (9) 2° =102 +21=0
(1) 2> =Tz =0

10) 22—10x+25=0
(2) 22-Tzx+12=0 (10)

(3) a*—2-6=0 (11) 22—6z+9=0

(4) 2°4+2—-30=0
(12) 2*+122+36=0

(5) 2?45z —24=0

(13) 2®+24x+144=0
(6) 2> —13z+12=0

(14) 22-100=0

(7) 22—92+20=0

(15) 22 —121 =0

(8) 2*2—3x+2=0
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(1) 2> =Tz =0
2 —Tr=0
x(r—7)=0
r=0,7

(2) 22 =Tz +12=0

2’ —Tr+12=0

(x—=3)(x—4)=0
x=3,4

3) 2*—2—-6=0
-2 —-6=0
(x—=3)(x+2)=0
r=3, =2

(4) 2°4+2—-30=0

22 +2x-30=0
(z —5)(z+6)=0
r =295, —6

(5) 2> +5x—24=0

2?24+ 5r—24=0

(x —3)(z+8)=0
r=3, =8

(6) 2> —13x+12=0
22 —13x+12=0
(x—1)(x—12)=0

r=1, 12

(7) 22— 92 +20=0

2°—92+20=0

(x—4)(x—=5)=0
r=4,5

8) 2*—=3x+2=0
22 —3x+2=0
(x—=1)(z—2)=0
r=1, 2

(9) 22— 10z +21 =0

2? =10z +21 =0
(x=3)(x—=T7)=0
r=3,7

(10) 2*> =10z +25=0

2? — 10z 425 =0
(z—5)2=0
T =95

(11) 2> =6x+9=0

22 —6x+9=0
(z—3)7=0
r=3

(12) 2*+122+36=0

22+ 120 +36=0
(z+6)>=0

r=—0

(13) 2%+ 24z + 144 =0

224+ 24 +144 =0
(r+12)*=0
r=—12

(14) 22 —100 =0

2 — 100 =0
(x +10)(x — 10) =0
r = =+10

(15) 22 —121 =0

22 —-121 =0
(z+11)(z —11) =0
r =411
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